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rlnorm(1000,0,1) %>% density %>% plot

rlnorm(100000,rnorm(100,0,0.2),1) 
%>% matrix(ncol=100,byrow=T) 
%>% apply(1,max) %>% density %>% plot
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• 𝑝 𝑞(= 1 − 𝑝)
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• A 𝑍

• 𝐴



Z 𝑞𝑍



Z 𝑔𝑧,𝑛

𝑝 𝑞 𝑍 𝐴 − 𝑍



𝛿
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𝜉 −𝜉 𝑧 𝑎 − 𝑧 𝛾+ 𝜉

𝑔+ 𝑡, 𝜉 𝛾− 𝜉 + 𝛾+ 𝜉 = 1

𝛾+ 𝜉 =
𝑒−(2𝜉𝑧/𝑠

2)−1

𝑒−(2𝜉𝑎/𝑠
2)−1

𝑧 =
a

2
, 𝑠 = 1

𝛾+ 𝜉 =
𝑒−𝜉𝑎 − 1

𝑒−2𝜉𝑎 − 1
=
𝑒𝜉𝑎 − 𝑒2𝜉𝑎

1 − 𝑒2𝜉𝑎
=

𝑒𝜉𝑎(1 − 𝑒𝜉𝑎)

(1 + 𝑒𝜉𝑎)(1 − 𝑒𝜉𝑎)
=

𝑒𝜉𝑎

1 + 𝑒𝜉𝑎

𝜉 = 𝜃 − 𝑏 2PLM
𝑒𝑎(𝜃−𝑏)

1+𝑒𝑎(𝜃−𝑏)



𝑔+ 𝑡, 𝜉 𝑔− 𝑡, 𝜉

𝑡 𝛾+ 𝜉

𝑔+ 𝑡,𝜉

𝛾+(𝜉)

𝑔− 𝑡,𝜉

𝛾−(𝜉)
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𝑁(0, 𝜎𝐼)
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𝑈[0, 𝐴]

𝑈[𝑏 − 𝐴, 𝑏] 𝑝

𝑁(𝑑 = 𝑣, 𝑠2) 𝑞

𝑡
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𝑡 𝑖 𝑡 𝑖



𝑁(𝑣, 𝑠2) 𝛷(−
𝑣

𝑠
)

ς𝑛=1
𝑁 𝛷(−

𝑣𝑛

𝑠
)

1−ς𝑛=1
𝑁 𝛷 −

𝑣𝑛
𝑠
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